Multiplication de Trois Binomes (E)

Simplifiez chaque expression.

1. (4b° 4 70 (60 — 4b?)(—9b* 4 4b%)

2 (=324 = ) (=2t + 728 (=22 + 32%)

D

3. (=9d® — 3d*)(5d* + 2d)(—5d® — 2d?)

L (g —6)(4q" +9¢*)(—5¢° — 8¢")

(v + 60)(90° + 9ut) (v* + 3v?)

Ot

6. (—2K° + 2kY)(—9K? + 3k)(4k* — Tk)

-3

(" + 76 (46* + b) (26* — 2b)

(7¢° + 8¢")(6¢* — 4¢°)(8¢” — 44*)

08

e

). (=65 + 55)(4s" — 25%)(—3s? — 85)

10. (=7° + 3r") (8 + 1)(6r — 5)
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Multiplication de Trois Binomes (E) Réponses

Simplifiez chaque expression.

(403 + ) (613 — 4b%)(—9b" + 4b%)
= —2160" — 13807 + 3560° — 112b°

—_

\}

(=321 = 2 (=2t + 7% (224 + 327)
— 622+ 49211 — 46210 — 2127

-
w

(—9d* — 3d*)(5d* + 2d)(—5d* — 2d*)
= 225d% + 255d" + 96d° + 12d°

(¢ —6)(4¢" + 9¢°)(—5¢" — 8¢")
= —20¢" + 43¢° + 390¢° + 432¢"

(@x

(v 4 60)(90° + 9ut) (v? + 307)
— 90! + 900? + 2430° + 16207

(@)

(—2K° 4 2k*) (—9k? + 3k)(4k* — TE)
= 72k — 222k% + 1927 — 42K5

(b TH) (467 + b)(26% — 2b)
— 8% + 5007 — 44b°% — 14p°

~

- (7¢° + 8¢")(6¢" — 4¢”) (8¢ — 4¢?)
— 336¢*2 — 8¢ — 3364 + 128¢°

00

Ne)

- (=65” +5s)(4s* — 25°) (35" — 8s)
= 725% + 965" — 22655 + 80s°

10. (=7° + 3r") (8 + 1)(6r — 5)
= —48r" + 178¢% — 97r° — 150
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